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2.1 1 2-31 1
12)= P11 = =410 (1,3)= P(lz)—m—ﬁ
2-3-:2.1 2 321 1
(1,4),(1,5= P13 =2- 432 10 2,3 = P(21)_m_1—
3-2-21 2 3-2-2.1 2
(2,4),(2,5)= P(2,2)=2- £ 432 10 (3,4),(3,5= P31 =2 c. 4.3.2—1—0
321 1
(45) = P(4,0) = c4:10
(a,b) (1,2) {(1,3) |(1,4) | (15 |(23) |(24) |(2,5) |(3,4) |(3,5 |(4,5)
(N,N2) | (1,1) |(1,2) |(1,3) |(1,3) |(21) |(2,2) |(2,2) |(3,1) |(3,1) |(4,0)
PN |1 [ 1 1 1 [1o 1 11 1 |1
10 10 10 10 10 10 10 10 10 10
Hence the joint pmf of (N1,N,):
(N1,Nz) | (1,1) | (1,2) (1,3) (2,1) (2,2) (3,1) (4,0)
PNL,N2) | 1 | 1 2 1 2 2 1
10 10 10 10 10 10 10
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22.
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f (X)= jx+ ydy:x+% O<x<1
0
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f,(y)= _[x+ ydx= y+% O<y<l1
0

Hence f, , (X, y) # fx (X)- f, (Y)
= X andY arenot independert.
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Theoreticd Exercises

11.
| =P(X, < X, < X;< X, < X;) = ”I J'J'f (X3 Xys Xg, X, » X ) AX 0X, X, 0X, AX,
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00000 du, = dF (x) = f (x)dx
1 1 N
5120 ()
(a)
By (i), | does not depend on F
(b)
N 1
B , | =—
y (i1) 150
(©)

QEFRHEEPR o ASEFREZFRERIERFEY -
P(Q)=1 > P(A)=P(X, < X, < X, < X, < X;) =1/120
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24.

X ~ Exp(4)
P[(X]=nX-[X]<X)=P(n< X <n+X)
=P(X <n+Xx)—P(X <n)

1_g ™
1-e”

1° 1-e™)EL, for 0<x<1,

1_ e—ﬂX
e—l

— e—n/i (l— e—ﬂLX) — e—n/'L (l— e—/'{)

P(X <x|0<x<])=

2° e M, AR EB R et e e,
BN, RER S oep = €7,
[X]+1~ Geo(p) withp=¢e
P(X]+1=n+)=(1-p)p"=(1-e")e™,

by 1° and 2°, X-[X] and [X] are independent
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